MTH 266, Quiz #8, Fall 2018 Name K \/

Instructions: Show all work. Use exact answers unless otherwise as!led to round.

1. letd = [% 3 _55] and define T: R® — R? by T(¥) = AX.

a. Find the image under T of il = [—il]'
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b. Find a vector whose image under T is b= _1122] Is it unique?
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Ay = T283 Xs "'60/7— bé)‘l_g—-{ ==
Yz = -203 Y3 -4ty
X3 = ¥ 2 3x, — 4x3
2. Showsthat the transformation T( xzD =| 1-x?
A @run e X3 X1+ X3 — x3

linear. If it is not, explain why not. Ifitis, prove it. Is the transformation one-to-one, onto, both,
or neither? Explain. ‘
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